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  KziAvb gvwR` I ZvRwf` 

c~Y©gvb: 100, welq †KvW: 101 

cvV¨cy¯ÍK: KziAvb gvwR` I ZvRwf` (gv`ivmv †evW©) 

µg cÖ‡kœi aiY gvbe›Ub 

1.  eûwbe©vPwb cÖkœvejx-10wU 110=10 

2.  m„Rbkxj cÖkœ (KziAvb) 3wU n‡Z 2wU 102=20 

3.  m„Rbkxj cÖkœ (ZvRwf`) 2wU n‡Z 1wU 101=10 

4.  Abyev` (3wU n‡Z 2wU) 52=10 

5.  ZvnwKK (7wU n‡Z 5wU) 25=10 

6.  ZviwKe (3wU n‡Z 2wU) 52=10 

7.  g~j e³e¨/wUKv wjLb/kv‡b byhyj (3wU n‡Z 1wU) 51=05 

8.  AvqvZ †_‡K ZvRwf‡`i K¡vq`v wbY©q 51=5 

9.  A_©mn m~ivi Ask we‡kl gyL¯’ †jLb (Kgc‡ÿ 5 AvqvZ)  25=10 

10.  ‡kÖwY cixÿv 10 

me©‡gvU  100 

cÖ_g †mwg÷vi 

 cÖ_g Aa¨vq : 1g cvV| 

 wØZxq Aa¨vq : 1, 2 I 3bs| 

 Z…Zxq Aa¨vq : 1g cwi‡”Q‡`i 1g I 2q cvV| 

        2q cwi‡”Q‡`i 1g cvV| 

        3q cwi‡”Q‡`i 1g I 2q cvV| 

        4_© cwi‡”Q‡`i 1g cvV| 

        5g cwi‡”Q‡`i (K) 1g I 2q cvV| 

        5g cwi‡”Q‡`i (L) 1g I 2q cvV| 

 PZz_© Aa¨vq : (ZvRwe`): 1g I 2q cvV| 

wØZxq †mwg÷vi 

 cÖ_g Aa¨vq : 2q cvV| 

 wØZxq Aa¨vq : 4, 5 I 6bs| 

 Z…Zxq Aa¨vq : 1g cwi‡”Q‡`i 3q cvV| 

        2q cwi‡”Q‡`i 2q cvV| 
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        3q cwi‡”Q‡`i 3q I 4_© cvV| 

        4_© cwi‡”Q‡`i 2q I 3q cvV| 

        5g cwi‡”Q‡`i (K) 3q I 4_© cvV| 

        5g cwi‡”Q‡`i (L) 3q I 4_© cvV| 

 PZz_© Aa¨vq : (ZvRwe`): 3q I 4_© cvV| 

dvBbvj †mwg÷vi 

 cÖ_g Aa¨vq : 3q cvV| 

 wØZxq Aa¨vq : 7 I 8bs| 

 Z…Zxq Aa¨vq : 1g cwi‡”Q‡`i 4_© cvV| 

        2q cwi‡”Q‡`i 3q cvV| 

        3q cwi‡”Q‡`i 5g I 6ô cvV| 

        4_© cwi‡”Q‡`i 4_© cvV| 

        5g cwi‡”Q‡`i (K) 5g cvV| 

        5g cwi‡”Q‡`i (L) 5g cvV| 

 PZz_© Aa¨vq : (ZvRwe`): 5g I 6ô cvV| 

AvKvB` I wdK&n 

c~Y©gvb: 100 

cvV¨cy¯ÍK: Avj-AvKv‡q` Iqvj wdK&n 

µg cÖ‡kœi aiY gvbe›Ub 

1.  mwVK DËi evQvB/eûwbe©vPbx cÖkœ- 30 

 
AvKvB` Ask n‡Z 10wU, wdKn Ask n‡Z 15wU Ges AvLjvK 

Ask n‡Z 5wU mn †gvU 30wU cÖ‡kœi DËi wjL‡Z n‡e|  
130=30 

2.  m„Rbkxj cÖkœ- 60 

 
K) AvKvB` Ask †_‡K 3wU m„Rbkxj cÖkœ _vK‡e; 2wUi DËi 

wjL‡Z n‡e- 
102=20 

 
L) wdKn Ask †_‡K 3wU m„Rbkxj cÖkœ _vK‡e; 2wUi DËi 

wjL‡Z n‡e- 
102=20 

 

M) AvLjvK Ask †_‡K 2wU m„Rbkxj cÖkœ _vK‡e; 1wUi DËi 

wjL‡Z n‡e- 

N) A_©mn مسنون †`vqv gyL¯’ wjLb; (2wU †_‡K 1wU) 

101=10 

101=10 

3. †kÖwY cixÿv 101=10 

me©‡gvU  100 
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cÖ_g †mwg÷vi 

 AvKvB` : 1g, 2q I 3q Aa¨vq| 

 wdK&n : 1g, 2q Aa¨vq| 

 AvLjvK : 1g, 2q Aa¨vq| 

wØZxq †mwg÷vi 

 AvKvB` : 4_©-5g Aa¨vq| 

 wdK&n : 3q, 4_© Aa¨vq| 

 AvLjvK : 3q, 4_© Aa¨vq| 

dvBbvj †mwg÷vi 

 AvKvB` : 7g-8g Aa¨vq| 

 wdK&n : 2q, 5g Aa¨vq| 

 AvLjvK : 2q, 5g Aa¨vq| 
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 (ي)انىرقة الأونالأدة انؼربي 

 011 انذسجخ انكبيهخ:

 رصبنٛخانهـخ انؼشثٛخ ألا :ة انًوشسبزانك
 الرقم نمىزج الأسئهة تىزيغ اندرجبت

 23-انمدروس اننص (انف

 .١ .خًغخ( يٍ ثلاثخ ) خٚالاعئهخ ٔالاجٕ 01=3×2

 .٢ .(يٍ ثًبَٛخ خًغخالاعئهخ انًزؼهوخ ثبنُص ) 11=4×3

  .أصذٛخ ٔخط. ا 

 .انلشاؽ يلأة.  

 .انًلشد ٔانجًغ ٔركٍٕٚ انجًهخاعزجذال ج.  

 .رذوٛند.  

 .الانلبظ انًشادكخ ٔانًزضبدحِ.  

 .ٍٛٛ انُٕع يٍ دٛث انجذثؼرالاكؼبل يٍ انُص ٔ عزخشاج أ.  

  .ٓبيٍ انُص ٔ رؼٍٛٛ َٕػالاعًبء انًشزوخ عزخشاج اص.  

 .ٕػخالاكؼبل يٍ انُص دغت انضًبئش انًشكرصشٚق ح.  

 .ح يٍ انُصانًجشٔس /انًُصٕثخ /الاعًبء انًشكٕػخإعزخشاج ط.  
 

  ٍ دغت انًثبل.ٛيٍ انكٕع صٕؽ انذٕاس ثبعزخذاو انكهًبد٘.  

 81-ة( اننص غير انمدروس

 .١ خًغخ(ثلاثخ يٍ  الاعئهخ ٔالاجٕثخ )) 5=1×2

 .٢ خًغخ(خ يٍ الاعئهخ انًزؼهوخ ثبنُص )ثلاث 01=2×3

  ا. اعزجذال انؼذد. 

 
الاعًبء يٍ انُص ٔ رؼٍٛٛ َٕػٓب يٍ انجًٕد إعزخشاج ة. 

 ٔانًصذس ٔانًشزوبد.

 ج. رشكٛم انجًم يٍ انُص/رصشٚق الاكؼبل 

 د. انٕصم ثٍٛ انًجًٕػزٍٛ. 

 
انًؤَثخ ٔ رـٛٛشْب/اعزخشج الاعًبء بظ انًزكشح أ عزخشاج الأنلاِ. 

 انًجشٔسح ‘انًُصٕثخ ‘انًشكٕػخ

 32 -ج( اننظم

 .١ (ٔادذ يٍ اثٍُٛكزبثخ انوصٛذح دلظب )  8=8×0

 .٢ (اثٍُٛ يٍ أسثؼخالأعئهخ نلأجٕثخ انًؤجضح ) 5=2×1

 .٣ (ٔادذ يٍ ثلاثخانزششٚخ ) 5=5×0

 22-د( اختببر انمفردات وانكتببة

 .١ كشاؽ انجًم يغ انوشائٍ إيلأ 4=4×0

 .٢ ركٍٕٚ انذٕاس ثغزخ جًم ػهٗ الأهم )يٍ انؼجبسح انًزكٕسح( 01=01×0

 .٣ رشرٛت انكهًبد ٔركٍٕٚ انجًهخ 4=4×0

 .4 الاخزجبس انصلٗ 01=01×0
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 انمجمىع 011

 انفصم الأول

  انغبثغيٍ انذسط الأل إنٙ انذسط. 

 :اننص غير انمدروس  

 ( انوشاٌ انكشٚى0

 الاعلاو( 1

 ( انؼهى2

 ( انصهٕح3

 ( دغٍ انخهن4

 ( انكؼجخ انًششكخ.5

 انفصم انثبني

  انشاثغ ػششإنٙ انذسط  ثبيٍانيٍ انذسط. 

 :اننص غير انمدروس 

 انؼذانخ (0

 انًغجذ الاهصٗ (1

 ادزشاو الأو( 2

 زاجخ نؼًش )سض(( انًؼٛشخ انغ3

 الارذبد (4

 ( اداة انطؼبو.5
 انفصم انثبنث

  دبد٘ ٔانؼششٌٔإنٙ انذسط خبيظ ػشش انيٍ انذسط. 

 :اننص غير انمدروس 

 اداة الأكم ٔانششة (0

 ػذل ػهٙ )سضٗ( (1

 الايبو انجخبسٖ( 2

 ( ثطٕنخ ػًش3

 ( الايبو اثٕ دُٛلخ )سح(4

 انخهلبء انشاشذٌٔ. ( 5
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 )انىرقة انثبنية( ةانؼربي نهغةا

 011:انذسجخ انكبيهخ

 هٕاػذ انهـخ انؼشثٛخ :ة انًوشسحبزانك

 الرقم نمىزج الأسئهة تىزيغ اندرجبت

  22 -انف( انقىاػد

1×4=01 
 الاعئهخ نلأجٕثخ انًؤجضح يٍ هغى انصشف 

 (ٍُٛ يٍ اسثؼخثا)

١.  

  .2 (اسثؼخ يٍ عزخالاعئهخ نلأجٕثخ انًؤجضح يٍ هغى انُذٕ ) 11=4×3

 21=5×4 (ستة من ثمبنيةاختببر انقىاػد: ))ة( 

  بئش انًشكٕػخ.رصشٚق دغت انضً -ا 

 .رـٛٛش انصٛؾ -ة 

  .اعزخشاج انًبدح ٔ رؼٍٛٛ انجُظ -ج 

 انزؼهٛم. -د 

 رصذٛخ انجًم. -ِ 

 رشكٛم انجًم. -ٔ 

 دبد.اعزخشاج الاصطلا -ص 

 ثٛبٌ الاػشاة نلانلبظ انًشعٕيخ. -ح 

 .رشكٛت -ط 

  22 -ءانترجمة والإنشب ()ج

 .١ )خًغخ(انزشجًخ يٍ انؼشثٛخ إنٙ انجُـبنٛخ  4=0×4

 .2 انزشجًخ يٍ انجُـبنٛخ إنٙ انؼشثٛخ )خًغخ( 4=0×4

 .٣ كزبثخ انؼشٚضخ أٔ انشعبنخ 01=01×0

 .4 (يٍ اسثؼخٔادذ كزبثخ انًوبنخ ) 01=01×0

 .5 الاخزجبس انصلٗ 01

 انمجمىع 822

 الاول انفصم

 قسم اننحى

 (008-32 -)انصلذخ .غبدطيٍ انذسط الأل انٗ انذسط ان : انٕدذح انثبَٛخ 

 قسم انصرف

 (11-0 -)انصلذخ .خبيظيٍ انذسط الأل انٗ انذ سط ان : انٕادذح الأل 

 098-093 يٍ انصلذخ : انزشجًخ 

 اخزجبس الأعزبر : انزشكٛت. 

 اخزجبس الأعزبر : ركٍٕٚ انجًم. 
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 انؼشٚضخ/انشعبنخ: 

 )أ( اكزت ػشٚضخ إنٗ يذٚش انًذسعخ رطهت كٛٓب انشخصخ ثلاثخ اٚبو.

 )ة( اكزت ػشٚضخ إنٗ يذٚش انًذسعخ رطهت كٛٓب انذساعخ يجبَب.

 )ج( اكزت ػشٚضخ إنٗ يششف انغكٍ رطهت كٛٓب انًوؼذ.

 ٔاججبد انطلاة.‘ انؼهى‘ انكشٚى:  انًوبنخ 

 انثبنى انفصم

 قسم اننحى

  (051-009 -)انصلذخ .انلصم الأل انٗ انلصم انخبيظ ػششيٍ  : انًشكٕػبد 

 قسم انصرف

  (35-12 -)انصلذخ .بيٍانٗ انذ سط انث غبدطيٍ انذسط ان : انًبضٗانلؼم 

 111-111 يٍ انصلذخ : انزشجًخ 

 اخزجبس الأعزبر : انزشكٛت. 

 اخزجبس الأعزبر : ركٍٕٚ انجًم. 

 انؼشٚضخ/انشعبنخ: 

 .نلانزذبم كٗ انصق انزبعغإنٗ يذٚش انًذسعخ  ثبنؼشثٛخ )أ( اكزت ػشٚضخ

 ػهٛم. ثبَك انًذسعخ رطهت كٛٓب انشخصخيذٚش انٗ ػشٚضخ اكزت )ة( 

 ربكب.ح أ ًاكزت سعبنخ انٗ اثٛك لاسعبل خًغج( 

 الارذبد‘ انصلاح‘ انًذسعخ : انًوبنخ. 

 انفصم انثبنث
 

 انزبكٛذ(انٗ انلصم انخبيظ  انلصم انغبدط ػشش )انًضبف انّٛ(: يٍ  قسم اننحى(. 

 (095-050 -)انصلذخ  

 (31-33 :)انصلذخ .َٗ ػششبانٗ انذ سط انث زبعغان : يٍ انذسط)فؼم اننهى(  قسم انصرف 

 113-112: يٍ انصلذخ  انزشجًخ 

 اخزجبس الأعزبر. انزشكٛت : 

 اخزجبس الأعزبر. ركٍٕٚ انجًم : 

 :انشعبنخ/انؼشٚضخ 

 رطهت يُّ ػلٕا ؿشايخ الاٚبو انزٗ ؿجذ كٛٓب.يذٚش انًذسعخ طهجب انٗ )أ( اكزت 

 بعجخ صٔاج اخزك انصـٛشح.ًُثسعبنخ انٗ صذٚوك رذػِٕ )ة( اكزت 

 .انغبس كٗ الاخزجبسػٍ َجبدك  ِجشرخ ج( اكزت سعبنخ انٗ اثٛك

 دغٍ انخهن.‘ ثش انٕانذٍٚ‘ كًٛخ انٕهذ:  انًوبنخ 
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English  

Full Marks: 100 

Bools : 1) English For Today 2) English Grammar, Translation & 

Composition 

SL Question Pattern Marks 

Part A: Seen Part (20) 

1.  Choose the correct answer 1×7=7 

2.  Answering Questions 2×4=8 

3.  Fill in the blanks 1×5=5 

Part B: Unseen Part (25) 

4.  Information Transfer 1×5=5 

5.  True/False 1×5=5 

6.  Close test with clues 0.5×10=5 

7.  Close test without clues 1×5=5 

8.  Matching the sentences 1×5=5 

Part C : Grammar (25) 

9.  Use of Articles 0.5×10=5 

10.  Use of Suffix/Prefix 0.5×10=5 

11.  Changing Sentences 1×5=5 

12.  Speech (Direct to Indirect) 05 

13.  Use of capital letters and punctuations 05 

Part D: Writing (30) 

14.  Dialogue 06 

15.  E-mail 06 

16.  Paragraph 08 

17.  C.T 10 

Total 100 
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First Semester 

 Textbook : English For Today: Unit (1-4)  

 Grammar  : Use of Articles, Use of Suffix and Prefixes, Changing 

Sentences (Affirmative to Negative and Interrogative and vice versa, 

From Assertive to Exclamatory and vice versa. From Active to 

Passive), Changing Speech (Direct to Indirect), Use of capital 

letters, Parts of Speech, Tenses, Infinitive and punctuations. 

 Dialogue :  

 Write a dialogue between you and your friend about 

environment pollution. 

 Dialogue between two friends about the importance of tree 

plantation. 

 Write a dialogue between you and your friend about your first 

plane Journey. 

 E. mail :  

 Send an email to your younger brother advising him to be 

regular in his studies. 

 Suppose, the marriage ceremony of your elder sister is going to 

be held next week. Invite your friend by using email to attend 

the ceremony. 

 Paragraph :  

 Your Favourite Teacher 

 Your Hobby 

 A Farmer 

 A Village Fair 

Second Semester 

 Textbook : [English for Today] Unit: (5-8) 

 Grammar  : Use of Articles, Use of Suffix and Prefixes, Changing 

Sentences (Affirmative to Negative and Interrogative and vice versa, 

From Assertive to Exclamatory and vice versa. From Active to 

Passive), Changing Speech (Direct to Indirect), Use of capital 

letters, Modals, Degree of Adjectives, Voice and punctuations. 
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 Dialogue :  

 Write a dialogue between two friends about the students’ failure 

in English. 

 Write a dialogue between you and your friend about his/her 

birthday. 

 Write a dialogue between two friends on frequent road accidents 

in our country.  

 E. mail :  

 Suppose, your locality has been seriously affected by a flood. 

Write an email to the DC of your district for relief for the flood 

affected people. 

 Suppose, you want to open a bank account in a bank. Now write 

an email to the manager of a bank about it. 

 Paragraph :  

 Your Madrasah Magazine 

 A Day Labourer 

 Your Madrasah Library 

 Load Shedding 

Final Semester 

Text Book: English For Today (9-10) 

 Grammar : Use of Articles, Use of Suffix and Prefixes, Changing 

Sentences (Affirmative to Negative and Interrogative and vice versa, 

From Assertive to Exclamatory and vice versa. From Active to 

Passive), Changing Speech (Direct to Indirect), Use of capital 

letters, and punctuations. 

 Dialogue :  

 Dialogue about the necessity of reding newspaper between 

Nehal and Reza. 

 Dialogue between two friends about the importance of 

computer. 

 Dialogue between two friends on the importance of early rising. 

 E. mail :  
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 Suppose, one of your friends borrowed a book from you. Send a 

message to him through email to return your book. 

 Suppose, you are Sumon and your friend is Mizan, who wants to 

know about your aim in life. Send an email to him about your 

aim in life. 

 Paragraph :  

 News Paper 

 A Winter Morning 

 An Ideal Student 

 Traffic Jam 

 

evsjv 1g cÎ  

c~Y©gvb: 100 

cvV¨cy¯ÍK: mvwnZ¨ KwYKv, evsjv e¨vKiY I wbwg©wZ 

µg cÖ‡kœi aiY gvbe›Ub 

1.  eûwbe©vPbx cÖkœ- 30 

 
M`¨vsk †_‡K 15wU, c`¨vsk †_‡K 15wU †gvU 30wU cÖkœ _vK‡e| meKwU 

cÖ‡kœi DËi w`‡Z n‡e| 
130=30 

2.  m„Rbkxj cÖkœ- 60 

 
* M`¨vsk †_‡K 4wU, c`¨vsk †_‡K 4wU K‡i 8wU cÖkœ _vK‡e| 3wU 

K‡i †gvU 6wU m„Rbkxj cÖ‡kœi DËi w`‡Z n‡e| 
106=60 

3. ‡kÖwY cixÿv 10 

me©‡gvU  100 

cÖ_g †mwg÷vi 

 M`¨vsk : 1. AwZw_i ¯§„wZ  2. fve I KvR   3. c‡o cvIqv  

  4. ‣ZjwP‡Îi f~Z  

 c`¨vsk:  1. e½f~wgi cÖwZ   2. ỳB weNv Rwg  

               3. cv‡Q †jv‡K wKQy e‡j   4. cÖv_©bv 

wØZxq †mwg÷vi 

 M`¨vsk : 1. Avgv‡`i †jvKwkí,   2. myLx gvbyl,  

  3. Gev‡ii msMÖvg ¯̂vaxbZvi msMÖvg    4. wkí Kjvi bvb w`K 
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 c`¨vsk : 1. bvix, 2. Avevi Avwme wd‡i, 3. iæcvB,  

       4. gv‡Mv Iiv e‡j, 5. GKz‡ki Mvb 

dvBbvj †mwg÷vi 

 M`¨vsk : 1. gw`bvi c‡_  2. evsjv beel©, 

  3. evsjv fvlvi Rb¥ K_v 4. c‡o cvIqv  

 c`¨vsk : 1. iæcvB   2. cÖv_©x   

       4. GKz‡ki Mvb  5. e½f‚wgi cÖwZ 

evsjv 2q cÎ  

c~Y©gvb: 100 

cvV¨cy¯ÍK: mvwnZ¨ KwYKv, evsjv e¨vKiY I wbwg©wZ 

µg cÖ‡kœi aiY gvbe›Ub 

1. eûwbe©vPbx cÖkœ- 20 20 

2. mvivsk/mvigg©- (2wU †_‡K 1wU) 05 

3. e¨w³MZ cÎ/Av‡e`bcÎ (2wU †_‡K 1wU) 05 

4. fvem¤úªmviY (2wU †_‡K 1wU) 05 

5. cÖeÜ/iPbv (3wU †_‡K 1wU) 10 

6. ‡kÖwY g~j¨vqb  05 

me©‡gvU  50 

cÖ_g †mwg÷vi 

 e¨vKiY  : cvV- 1.1, 1.2, 1.3, 2.1, 2.2, 3.1, 4, 4.1, 4.2, 

  10.1 (74-78 c„ôv), 10.2 (82-83 c„ôv) 

 mvivsk/ mvigg© : 2.1, 2.2, 2.6, 2.7| 

 Av‡e`b cÎ : K I L| 

 e¨w³MZ cÎ : K I L| 

 fvem¤úªmviY  : 3.1, 3.2, 3.3, 3.4| 

 cÖeÜ iPbv  : evsjv‡`‡ki loFZz, weRq w`em, •`bw›`b,  

   Rxe‡b weÁvb, kÖ‡gi gh©v`v, ¯̂‡`k †cÖg|  

wØZxq †mwg÷vi 

 e¨vKiY  : cvV- 4.3, 4.4, 4.5, 4.6, 4.7, 4.8,  

  10.1 (79-81 c„ôv), 10.3, 10.4 (88 c„ôv) 
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 mvivsk/ mvigg© : 2.3, 2.4, 2.8, 2.9| 

 Av‡e`b cÎ : M, N| 

 e¨w³MZ cÎ : M, N| 

 fvem¤úªmviY  : 3.5, 3.6, 3.7, 3.8| 

 cÖeÜ iPbv  : ‡Uª‡b ågY, evsjv‡`‡ki K…lK, Avgvi †Q‡j‡ejv, 

  Aa¨emvq, Kg©gyLx wkÿv| 

 

†mwg÷vi dvBbvj 

 e¨vKiY  : cvV- 3.1, 3.2, 5, 5.1, 5.2, 6, 6.1, 6.2, 6.3,  

               7.1, 7.2, 8, 8.1, 10.2 (84-86 c„ôv), 10.4 (89 c„ôv) 

 mvivsk/ mvigg© : 2.1, 2.5, 2.6, 2.10| 

 Av‡e`b cÎ : L, M, N| 

 e¨w³MZ cÎ : K, M, N| 

 fvem¤úªmviY  : 3.2, 3.3, 3.7, 3.10| 

 cÖeÜ iPbv  : Aa¨emvq, B›Uvi‡bU, cvVvMv‡ii cÖ‡qvRbxqZv 

  gyw³hy× Rv`yNi, QvÎRxe‡bi `vwqZ¡ I KZ©e¨| 
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MwYZ 

c~Y©gvb: 100 

cvV¨cy¯ÍK: MwYZ  

µg cÖ‡kœi aiY gvbe›Ub 

1.  eûwbe©vPbx cÖkœ- 30  

 30wU cÖkœ _vK‡e; me KqwU cÖ‡kœi DËi w`‡Z n‡e| cÖwZwU cÖ‡kœi 

gvb- 1 (mKj Aa¨vq †_‡K cÖkœ _vK‡e) 
1⨯30=30 

2.  m„Rbkxj cÖkœ- 60  

 

K) K. wefvM: cvwU MwYZ:  

c¨vUvb© †_‡K 1wU, gybvdv †_‡K 1wU I cwigvc †_‡K 1wU K‡i 

†gvU 3wU cÖkœ _vK‡e| 2wUi DËi w`‡Z n‡e| (cÖwZ cÖ‡kœi gvb-

10)  

102=20 

L) L. wefvM: exR MwYZ  

exR MwbZxq m~Îvejx I cÖ‡qvM †_‡K 1wU, exR MwbZxq fMœvsk 

†_‡K 1wU Ges mijmn mgxKiY †_‡K 1wU K‡i  †gvU 3wU cÖkœ 

_vK‡e| 2wUi DËi w`‡Z n‡e| (cÖwZ cÖ‡kœi gvb-10) 

102=20 

M) wefvM: R¨vwgwZ  

Dccv`¨ †_‡K 1wU, m¤úv`¨ †_‡K 1wU Ges Abykxjbx †_‡K 1wU 

K‡i †gvU 2wU cÖkœ _vK‡e; 1wU cÖ‡kœi DËi w`‡Z n‡e| (cÖwZ cÖ‡kœi 

gvb-10) 

101=10 

N) wefvM: cwimsL¨vb  

Z_¨ I DcvË †_‡K 2wU cÖkœ _vK‡e; 1wU cÖ‡kœi DËi w`‡Z n‡e| 

(cÖwZ cÖ‡kœi gvb-10) 
101=10 

O) ‡kÖwY g~j¨vqb 10 

me©‡gvU  100 

cÖ_g †mwg÷vi 

 cÖ_g Aa¨vq : c¨vUvb©| 

 wØZxq Aa¨vq : gybvdv 2.1  

 Z…Zxq Aa¨vq : cwigvc 3 Gi (10-20 D`vniYmn) ch©šÍ| 
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 PZz_© Aa¨vq : 4.1 Ges 4.2| 

 cÂg Aa¨vq : 5.1| 

 lô Aa¨vq : 6.1| 

 Aóg Aa¨vq : Dccv`¨: (1-5), Abykxjbx: 8.1 m¤ú~Y©| 

m¤úv`¨ : (1-4)  

    Aby: 8.2 Gi (14-22) ch©šÍ| 

 GKv`k Aa¨vq : Mo, ga¨K I cÖPziK| Aby: 11 Gi (1-15) 

wØZxq †mwg÷vi 

 cÖ_g Aa¨vq  : c¨vUvb© 

 wØZxq Aa¨vq : 2.2  

 Z…Zxq Aa¨vq : 3 Gi D`vniYmn (21-31) ch©šÍ| 

 PZz_© Aa¨vq : 4.3 Ges 4.4| 

 cÂg Aa¨vq : 5.2| 

 lô Aa¨vq : 6.2| 

 Aóg Aa¨vq : m¤úv`¨ 5-7|  

   Aby: 8.2 Gi (18-24) ch©šÍ| 

 9g Aa¨vq  : wc_v‡Mviv‡mi Dccv`¨, Aby: 9 Gi (1-20) 

 `kg Aa¨vq  : Dccv`¨-1, 2,3, D`v: 4 Aby : 10.1, 10.2 

 GKv`k Aa¨vq : AvqZ‡jL, MYmsL¨v, µg‡hvwRZ MYmsL¨v, cvBwPÎ 

dvBbvj cixÿv 

 cÖ_g Aa¨vq  : c¨vUvb© 

 wØZxq Aa¨vq : Aby: 2.1 

 Z…Zxq Aa¨vq : Aby: 3  m¤ú~Y©| 

 PZz_© Aa¨vq : Aby: 4.2, 4.4| 

 cÂg Aa¨vq : 5.2| 

 lô Aa¨vq : 6.2| 

 mßg Aa¨vq : Aby: 7| 
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 Aóg Aa¨vq  : Aby: 9 Gi (21-26) 

 `kg Aa¨vq  : Aby: 10.2, 10.3 

 GKv`k Aa¨vq : Aby: 11 

weÁvb 

c~Y©gvb: 100 

welq †KvW: 129 

cvV¨cy¯ÍK: weÁvb 

µg cÖ‡kœi aiY gvbe›Ub 

1.  eûwbe©vPbx cÖkœ- 30  

 30wU eûwbe©vPwb cÖkœ _vK‡e| me KÕwUi DËi w`‡Z n‡e| 130=30 

2.  m„Rbkxj cÖkœ- 60  

 †gvU 10wU m„Rbkxj cÖkœ _vK‡e| 6wU cÖ‡kœi DËi w`‡Z n‡e|  106=60 

3. ‡kÖwY cixÿv 10 

me©‡gvU  100 

cÖ_g †mwg÷vi 

 cÖ_g Aa¨vq : cÖvYxRM‡Zi †kªwYweb¨vm  

 wØZxq Aa¨vq : Rx‡ei e„w× I eskMwZ  

 Z…Zxq Aa¨vq : e¨vcb Awf ª̄eY I cÖ‡¯^`b| 

 lô Aa¨vq : cigvYyi MVb  

 mßg Aa¨vq : c„w_ex I gnvKl©  

 Øv`k Aa¨vq : gnvKvk I DcMÖn 

wØZxq †mwg÷vi 

 PZz_© Aa¨vq : Dw™¢‡` eske„w×  

 Aóg Aa¨vq : ivmvqwbK wewµqv  

 beg Aa¨vq : eZ©bx I Pjwe ỳ¨ৎ 

 GKv`k Aa¨vq : Av‡jv  

 PZz`©k Aa¨vq : cwi‡ek I ev ‘̄Zš¿  

dvBbvj †mwg÷vi 
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 cÂg Aa¨vq : mgš̂q I wb:miY| 

 `kg Aa¨vq : A¤ø, ÿviK I jeY|  

 Î‡qv`k Aa¨vq : Lv`¨ I cywó  

evsjv‡`k I wek¦ cwiPq 

c~Y©gvb: 100 

cvV¨cy¯ÍK: evsjv‡`k I wek¦cwiPq 

µg cÖ‡kœi aiY gvbe›Ub 

1.  eûwbe©vPbx cÖkœ- 30  

 30wU cÖkœ _vK‡e| me KÕwUiB DËi w`‡Z n‡e| 130=30 

2.  m„Rbkxj cÖkœ- 60  

 
cvV¨cy¯ÍK †_‡K 10wU cÖkœ _vK‡e| 6wU cÖ‡kœi DËi 

w`‡Z n‡e| 
106=60 

3. ‡kÖwY cixÿv 10 

me©‡gvU  100 

cÖ_g †mwg÷vi 

 cÖ_g Aa¨vq : Jcwb‡ewkK hyM I evsjvi ¯^vaxbZv msMÖvg| 

 Z„Zxq Aa¨vq : evsjv‡`‡ki mvs¯‥…wZi cwieZ©b I Dbœqb| 

 mßg Aa¨vq : evsjv‡`‡ki ivóª I miKvi e¨e¯’v| 

 `kg Aa¨vq : evsjv‡`‡ki mvgvwRK mgm¨v| 

 GKv`k Aa¨vq : evsjv‡`‡ki wewfbœ b„-‡Mvôx| 

wØZxq ‡mwg÷vi 

 wØZxq Aa¨vq : evsjv‡`‡ki gyw³hy×| 

 PZz_© Aa¨vq : Jcwb‡ewkK hy‡Mi cÖZœZvwË¡K HwZn¨| 

 cÂg Aa¨vq : mvgvwRKxKiY I Dbœqb| 

 Aóg Aa¨vq : evsjv‡`‡ki ỳ‡h©vM| 

 beg Aa¨vq : evsjv‡`‡ki RbmsL¨v I Dbœqb| 

 Î‡qv`k Aa¨vq : evsjv‡`k I wewfbœ AvšÍR©vwZK I  

       AvÂwjK mn‡hvMx ms ’̄v| 

 PZz`©k Aa¨vq : †UKmB Dbœqb Afxó (GmwWwR) 
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dvBbvj †mwg÷vi 

 lô Aa¨vq : evsjv‡`‡ki A_©bxwZ| 

 Øv`k Aa¨vq : evsjv‡`‡ki cÖvK…wZK m¤ú`| 

 cÂg Aa¨vq : mvgvwRKxKiY I Dbœqb| 

 Aóg Aa¨vq : evsjv‡`‡ki ỳ‡h©vM| 

 

Z_¨ I †hvMv‡hvM cÖhyw³ 

c~Y©gvb: 50 

cvV¨cy¯ÍK: Z_¨ I †hvMv‡hvM cÖhyw³ 

µg cÖ‡kœi aiY gvbe›Ub 

1.  eûwbe©vPbx cÖkœ- 25  

 25wU mwVK DËi evQvB cÖkœ _vK‡e; 25wUi DËi w`‡Z n‡e| 125=25 

2.  e¨envwiK-25 25 

me©‡gvU  50 

cÖ_g †mwg÷vi 

 cÖ_g Aa¨vq : Z_¨ I ‡hvMv‡hvM cÖhyw³i ¸iæZ¡ (m¤ú~Y©)| 

 wØZxq Aa¨vq : Kw¤úDUvi †bUIqvK© (m¤ú~Y©) 

 
wØZxq †mwg÷vi 

 Z…Zxq Aa¨vq : m¤ú~Y©| 

 4_© Aa¨vq : m¤ú~Y© 

 ‡¯úªWwk‡Ui e¨envi| 

 

dvBbvj †mwg÷vi 

 5g Aa¨vq : m¤ú~Y© (wkÿv I •`bw›`b Rxe‡b B›Uvi‡b‡Ui e¨envi) 

 cÖ_g Aa¨vq : cybiv‡jvPbv (Z_¨ I ‡hvMv‡hvM cÖhyw³i ¸iæZ¡)| 
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Kg© I RxebgyLx wk¶v 

c~Y©gvb: 50 

cvV¨cy¯ÍK: Kg© I RxebgyLx wkÿv 

µg cÖ‡kœi aiY gvbe›Ub 

1.  eûwbe©vPbx cÖkœ- 20  

2.  ‡kÖwY I evwoi KvR 10 

 ‡kÖwY Afxÿv 20 

3.  e¨envwiK-20  

 
e¨envwiK KvR (Kgc‡ÿ 2wU e¨envwiK KvR w`‡Z n‡e| 

m‡e©v”P b¤̂i cÖvß 1wUi b¤^i we‡ePbv Ki‡Z n‡e|) 
20 

me©‡gvU  50 

cÖ_g †mwg÷vi 

 cÖ_g Aa¨vq: ‡gav Kvh©µg I AvZ¥ AbymÜvb| 

 Z…Zxq Aa¨vq: Avgv‡`i wk¶v I Kg©| 

 

wØZxq †mwg÷vi 

 wØZxq Aa¨vq: Avgv‡`i KvR †h¸‡jv Ab¨iv K‡i| 

 Z„Zxq Aa¨vq: Avgv‡`i wk¶v I Kg©|  

 

dvBbvj †mwg÷vi 

 cvV¨ eB‡qi c~Y© wm‡jevm| 
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K…wl wk¶v 

c~Y©gvb: 100 

cvV¨cy¯ÍK: K…wl wkÿv 

µg cÖ‡kœi aiY gvbe›Ub 

1.  eûwbe©vPbx cÖkœ- 30  

 30wU eûwbe©vPwb cÖkœ _vK‡e| me KÕwUi DËi w`‡Z n‡e 130=30 

2.  m„Rbkxj cÖkœ- 70  

 
†gvU 11wU m„Rbkxj cÖkœ _vK‡e| 7wU cÖ‡kœi DËi w`‡Z 

n‡e| 
107=70 

me©‡gvU  100 

cÖ_g †mwg÷vi 

 cÖ_g Aa¨vq : evsjv‡`‡ki K…wl I AvšÍR©vwZK †cÖ¶vcU| 

 wØZxq Aa¨vq : K…wl cÖhyw³| 

 Z…Zxq Aa¨vq : K…wl DcKiY| 

 

wØZxq †mwg÷vi 

 PZz_© Aa¨vq : K…wl I Rjevqy| 

 cÂg Aa¨vq : K…wlR Drcv`b| 

 lô Aa¨vq : ebvqb| 

 

dvBbvj †mwg÷vi 

 cÖ_g †mwg÷vi I wØZxq †mwg÷vi m¤ú~Y©| 

 

 

ivmyj (mvt) ewjqv‡Qbt Avjøvn Zvqvjv ab¨ Kwi‡eb †mB e¨w³‡K, 

†h Avgvi wbKU nB‡Z †Kvb wKQy ïwbj Ges Dnv †hfv‡e ïwbj †mB 

fv‡eB Ac‡ii wbKU †c․QvBqv w`j| †Kbbv cÖ_g †kÖvZv A‡cÿv 

Dnv c‡i hvi wbKU †cvuQvq, †m Dnvi AwaK msiÿY K‡i _v‡K| 

(wZiwgwh kixd) 


